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QUESTION 1

In an RSVP-based MPLS network, which ERO type specifies the exact order of routers through which an LSP must
travel, without consulting the IGP? 

A. loose hop 

B. static hop 

C. next hop 

D. strict hop 

Correct Answer: D 

When a strict hop is configured, it identifies an exact path through which the LSP must be routed. Strict-hop EROs
(Explicit Route Objects) specify the exact order of the routers through which the RSVP messages are sent. 

Incorrect Answers: 

A: When a loose hop is configured, it identifies one or more transit LSRs through which the LSP must be routed. 

The network IGP determines the exact route from the inbound router to the first loose hop, or from one loose hop to the
next. 

The loose hop specifies only that a particular LSR be included in the LSP. 

References: https://forums.juniper.net/t5/Routing/loose-and-strict-option/td-p/164626 

 

QUESTION 2

Which two statements are true about nonstop active routing (NSR)? (Choose two.) 

A. Graceful Routing Engine Switchover (GRES) must be configured for NSR to function properly 

B. NSR and graceful restart can be enabled at the same time 

C. NSR relies on helper support on neighboring devices 

D. When NSR is enabled, the rpd process runs on the backup Routing Engine 

Correct Answer: AD 

In addition to maintaining interface and kernel information, NSR also saves routing protocol information by running the
rpd process on the backup RE. By saving this additional information, NSR is self-contained and does not rely on helper
routers to assist the routing platform in restoring routing protocol information. In addition to enabling NSR and GRES,
you should also ensure that the commit operation synchronizes the configuration file by adding the commit synchronize
statement under the [edit system] hierarchy. 

 

QUESTION 3
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Click the Exhibit button 

Based on the illustration shown in the exhibit, what would PE-B do with a VPLS packet received from PE-A if the
matching entry in its VPLS routing table showed the destination was connected to PE-D? 

A. PE-B would flood the packet to all attached PEs 

B. PE-B would forward the packet to the root PE device 

C. PE-B would forward the packet to all attached CE devices 

D. PE-B would discard the packet 

Correct Answer: C 

 

QUESTION 4

You would like two LDP routers on opposite sides of your network to become neighbors. Which LDP message is used to
form this relationship? 

A. basic discovery 

B. extended discovery 

C. peer discovery 

D. remote discovery 

Correct Answer: B 

 

QUESTION 5
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Which method can be used to reduce the size of the upstream BGP routing table? 

A. confederations 

B. prefix aggregation 

C. atomic aggregate 

D. route reflection 

Correct Answer: B 

Prefix aggregation is a method that can be used to reduce the size of upstream BGP routing tables. This method is
commonly used in ISP deployments of BGP. 
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